e = Yiran

BRE 1 2 55EBEE
FIARET A gk DR & M OVE BT BE 9~ % S8 IRk Bk
BT YIER
EN IR ENIE S

B (55 7 S:BAR)

1 FARETAJES:

B 4 — i

BiF (5 7 REER)
1 FIRRETAJES

B — R

[BlIFE 1 AnK] [BlFE 1 AhK]

2 FIARHET bt o 2 — 1 HTB} 2 FARET (bt o Z — B

[HEt 2] [HEt 2]

% X 53 el BRp ] S OME A Bk MR X5y il FH BRf ] S OME Bk

EH QHF~1 2|1 M~ 1 7Hf| 1 7THF~2 1 8F E%4 QME~1 21| 1 SMj~1 7Hf| 1 7THF~2 11

% H ik —L 8, 800M 13, 200M 16, 500M| |[EHHK—L 8, 800M 13, 200M 16, 500
e 550 8 80H 1, 100H i 550 880HM 1, 100H
ESEA 550H 8 8 0H 1, 100HM] |EEREA 550M 88 0H 1, 1T00H
tEAEBR (20 |1, 100M 1, 320 1, 6500 |E2=B (2K |1, 100H 1, 320H 1, 6500
EEC (28 |1, 100M 1, 320H 1, 650 |[fEEEC (2 550H 88 0H 1, 100H
Rk A 2, 200M 2, 640M 3, 300H DHmEA 2, 200M 2, 640M 3, 300M
SEB (2B [1, 100M 1, 320H 1, 650 SH=EB (2P |1, 100M 1, 320 1, 650H

1/2




%ﬂ%i@ﬁ%) 2, 200M] 2, 640M 3, 300M ‘W%% (2B |2, 200M| 2, 640M 3, 300H
A = 1, 1T00M 1, 320H 1, 6 50HM SR 1, 1T00HM| 1, 320H 1, 650
I (2P| 2, 200M 2, 750 3, 300H| |FHEEHECE)| 2, 200H] 2, 750H 3, 300M

3 X2 2=F ¢ X —fF AR

(GUEVEIEEY

3 AKX 2 2=F 4B —fFEHE

[BE 3 A

st B

ZOEENE, TRSFEAA 1 ANGHITTD,

2/2




